H & 0l & AHS B Ml A

20288 204 LEHSIH XIS Z Tl

A ASE N

Hu: ZA|ANS U KHBR BB -

=
S

aJ|geet

Crelr SII0HE W AHIN E5 (el me
SN - O(BIH) - NRAY - BAS (%'%fj:) @%%gm;ﬁ% D=2
NS H 9,731,591 12,745,787 N3,014,196
= 650,700
g 72,000
< 1,153,461
Al 7,855,430
SAEXE & X g'.joq)Xﬂ B M - SAD S0 1,382,533 101,480 1,281,053
X/od - A0 H Bt
= 6,180
& 28,326
Al 1,348,027
St & ABIAF ES 158, 146 89,580 68,566
= 6,180
== 28,326
Al 123,640
H=D| 22| 500 16,612 A16,112
202 OdH| 500 500 0
01 =Wyl 500 500 0
=01l A 500 500 0
OHHHAMNBSRE N Fa 500,000& 500
=0t & AHIAIES X|&&3H| 57,046 53,968 3,078
201 LEL2AH| 6,260 2,350 3,910
01 AF222t2lt| 6,260 2,350 3,910
=0 A 6,260 2,350 3,910
OSIets ZHel E22 ME
3,000,000& 3,000
OSItetA 2] HE - E2H]
2,000,002 2,000
OAHINIHRA o285 EA4T
70,0002 x*92H %23 1,260
202 04| 2,500 2,500
01 2yl 2,500 2,500
S0 A 2,500 2,500
OSiAMg X8 & &A 1,000,000& 1,000
O2J10tA U AH|IANESAIY =&
1,500,000& 1,500
301 YEBNZ 18,760 18,760
14 JD|EIE A S 18,760 18,760
=0 A 18,760 18,760
O2II2LIHRE &=
40,000 x7H 67 18,760
307 2I1z2to|™ 29,526 27,358 2,168
02 DIZIHEAAIE X 29,526 3,710 25,816
=0 A 29,526 3,710 25,816
O=xA AHIXIES AFY 3,710,000 3,710




=N

NPy

M SAIGAS L NGAM S-5HAY - SAISLUUHKI /AR - SAD |Gt
o2l SItE 2 AHIG BS (ct9: &2
SN - BB CRI(3IH) - NIRA - BAS (%';j%,'j) @%%’Lﬁ‘” RS2
SZA AHINES 424 2A
2,151,280 x12& 25,816
ZASHOIAA A 245 =X 80,000 19,000 61,000
& 24,000
Al 56,000
301 LEt8dZ 80,000 19,000 61,000
= 24,000
Al 56,000
14 JIEIEAS 80,000 19,000 61,000
& 24,000
Al 56,000
=0l &t 80,000 19,000 61,000
= 24,000
Al 56,000
O=sIlH A Ba3 =2
80,000,000& 80,000
= 24,000
Al 56,000
A A S48 XJ 20,600 0 20,600
= 6,180
= 4,326
Al 10,094
301 LEBXZ 20,600 0 20,600
= 6,180
= 4,326
Al 10,094
14 JIEIEAS 20,600 0 20,600
= 6,180
o= 4,326
Al 10,094
=0l &t 20,600 0 20,600
= 6,180
o= 4,326
Al 10,094
O=tehAS A 2435 X
20,600,000 20,600
= 6,180
& 4,326
Al 10,094
ANE FZQAIZ AL=X(XSAM ) 16,900 11,900 5,000
AMEAH dRFA(ZS)(KNSESZH ) 7,900 2,900 5,000
203 PRF=&H| 7,900 2,900 5,000
03 AMHF=RIAR =AY 7,900 2,900 5,000
=0 A 7,900 2,900 5,000
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A NS EH
M HAZ2Z2R3 HE L 22X X (ABEX/=S)
o2l SItE 2 AHIG BS (EEREE]
SN - O(BIH) - NRAY - BAS (%'%fj:) @%%gm;ﬁ% MinEs)
= 616,417
Al 1,538, 193
22X SXKE 1,060,624 2,148,831 A~ 1,088,257
= 40,000
& 440,751
Al 579,873
L3 E LAOIE SHOISHSOE &0 X3 9,000 0 9,000
< 4,500
Al 4,500
307 2I2to|™ 9,000 0 9,000
& 4,500
Al 4,500
02 QIZHEAAIEE X 9,000 0 9,000
== 4,500
Al 4,500
S0 A 9,000 0 9,000
& 4,500
Al 4,500
OZJAT L AIRIA SHOISHI=EUE 21
KNEAIS 9,000,000 9,000
== 4,500
Al 4,500
URATE ASIBEEHES KA 246,480 1,026,000 NT79,520
o= 123,240
Al 123,240
301 LEEN= 246,480 1,026,000 ANT79,520
== 123,240
Al 123,240
14 JIEIE A2 246,480 1,026,000 NT79,520
& 123,240
Al 123,240
=0 A 246,480 1,026,000 ANT79,520
< 123,240
Al 123,240
OLEE MBS KA
246,480,000 246,480
== 123,240
Al 123,240
22 XNEX A& X2AHH| 2,800 2,800 0
202 04| 1,000 1,000 0
01 2yl 1,000 1,000 0
S0 A 1,000 1,000 0
O=2L{¢ | 1,000,000& 1,000




=N

INEE=DS )y

M HEIZZ225 & L SAXE M=/ =S)
Ciel: 22X =AN (el me
S - BB BR(31) - NSAY - BES S SR b=
301 Let8dZ 1,800 1,800
11 HAIRHIXEZ 1,800 1,800
S0 &t 1,800 1,800
OREIEX Y P4LE Ast
600,000& 3 1,800
SAOHE =& 77,466 65,960 11,506
= 38,733
Al 38,733
307 2IZt0|A 77,466 65,960 11,506
& 38,733
Al 38,733
02 RIZIBAAIEE R 77,466 65,960 11,506
& 38,733
Al 38,733
S0 &t 77,466 65,960 11,506
& 38,733
Al 38,733
OL-SHEMTAMEA XA
77,466,000 77,466
& 38,733
Al 38,733
A etE 2 22=X EF 133,560 108,960 24,600
301 LdetENZ 4,000 4,000 0
11 HAIRHIX A2 4,000 4,000 0
204 & 4,000 4,000 0
OZXUEX} s A
200,000 x 105 *23] 4,000
307 QIZ2t0| ™ 108,560 104,960 3,600
05 QI2tRIEr2 108,560 104,960 3,600
=0 A 108,560 104,960 3,600
o221t Sg=sN2 23
27,140,000& x4 | 108,560
401 AIEHIZL S0 21,000 21,000
01 AlI&HI 21,000 21,000
S0 & 21,000 21,000
O2 2k SE=KX2 S4F 2 EX] SA
21,000,000& 21,000
A 10 ANFSX AIIEE S KA 140,000 337,560 197,560
& 70,000
Al 70,000
301 Let8d=a 140,000 337,560 A197,560
& 70,000
Al 70,000
14 J|Et2 &2 140,000 337,560 197,560
& 70,000




=N

INEE=DS )y

M HEIZZ225 & L SAXE M=/ =S)
&2l 22X SAXAH (Gt &
) _ oM e, hoH -
SH - B S9(3H) - NRAY - BES S cR HIDS2
Al 70,000
201 & 140,000 337,560 A197,560
& 70,000
Al 70,000
QMg 121 1ILX M2 Z K&
324 140,000,000 140,000
& 70,000
Al 70,000
XS SAQIE SHEMs XI2("23 A X&) 47,060 47,060 0
== 40,000
Al 7,060
307 QIZ2t0| A 47,060 47,060 0
= 40,000
Al 7,060
02 RIZHEAAIEE R 47,060 47,060 0
= 40,000
Al 7,060
=0 At 47,060 47,060 0
= 40,000
Al 7,060
OXG - AMIFESEE LS XIJAALS
47,060,000 47,060
= 40,000
Al 7,060
AN SAIE 843 XA ("3 At KI2)( 89,984 70,267 19,717
KEMIZ=01)

307 QIZ2t0| A 89,984 70,267 19,717
02 BIZtABAAIEE X 48,748 29,930 18,818
20 & 48,748 29,930 18,818

OXNS A EEHHAS ST XA AR (A
&dl) 48,748
OUBLEN AKL2 I AIIAIY
7,800,000& 7,800
0 BEHAENWY NS S A
2,600,000 2,600
o NSO/ M= SAIE IS
4,260,000 4,260
o XY Sl= 2H 2SI At
4,428,000& 4,428
OFLAHSNA & UH JtRI| At
4,660,000 4,660
o A2 SAHA 22E8 & &IE
L SHAIY 5,000,000& 5,000
o2l LAt 23t 018 BIXI0H
20,000,000 20,000
03 RIZIHMEBEEH2IHIE X 41,236 40,337 899
20t 41,236 40,337 899




NS
D HA22REE FE Y SR (MEIEX/ S)

224 SXKA (e
A S S2(8) - ISA - BaS S SR HIDS2
OXS A EESAS LS XAAMD (2
dl) 3,6838,000& 3,688
OXS A HESAS S XA (2!
248l) 37,548,000 37,548
NEBSSH LXel AFS(XHEAIY) 314,274 314,274 0
& 204,278
Al 109,996
101 Q1244| 313,678 312,523 1,155
= 203,891
Al 109,787
M It 22 sE 313,678 312,523 1,155
& 203,891
Al 109,787
20l & 313,678 312,523 1,155
== 203,891
Al 109,787
@feiFals] 313,678
o= 1,650,000 *57 H+3& 282,150
& 183,398
Al 98,752
O4UBE S (ML, =22, D&, AH)
282,150, 000& *10.745% 30,318
& 19,707
Al 10,611
oI QABHRES
282,150,000 *3. 495%*12.27% 1,210
& 786
Al 424
201 LEr23d| 596 1,751 A1,155
& 387
Al 209
01 AtS2teltl 596 1,751 1,155
& 387
Al 209
20i & 596 1,751 A1,155
& 387
Al 209
Oget23| 596,000 596
= 387
Al 209
S22 LAtel F=A 1,810,506 5,742,188 A3,931,682
= 604,520
= 72,000
& 175,666




=N

X ZH -
o=

INEE=DS )y
HE2225 & L SXXF(ME=X/=S)

o9 RERE UNel XA (e @2
S - BB BR(31) - NSAY - BES S SR b=
Al 958,320
2RTE AR A BH KA (=XEXIH) 469,600 474,000 24,400
308 AXIEHMSOIH 469,600 474,000 24,400
07 MXISHHZIREZ2 469,600 474,000 24,400
=0 A 469,600 474,000 24,400
OZATE 2Rel et SH KIJAALS
469,600,000 469,600
ANEBIED LRI EHEAIS 96,000 130,000 A34,000
s 72,000
& 4,800
Al 19,200
301 detEAZ 9%,000 130,000 234,000
s 72,000
& 4,800
Al 19,200
14 JIEtE A2 9%,000 130,000 234,000
iy 72,000
= 4,800
Al 19,200
204 & 9%,000 130,000 A34,000
= 72,000
& 4,800
Al 19,200
O(uENAIEI =1 X2l &HEAIY
96,000,000& 96,000
= 72,000
== 4,800
Al 19,200
2dXtel gt =& 30,000 0 30,000
201 LEr23AH| 30,000 0 30,000
03 A2 30,000 0 30,000
S0 & 30,000 0 30,000
O3 Xte|ersts| =l 30,000,000 30,000
EIPNTH =] 3,000 3,000 0
201 LEt23H| 1,500 1,500 0
01 AtR22teld| 1,500 1,500 0
S0 &t 1,500 1,500 0
Ogxtel 2 E2SHEX ME
400& *3, 7502 1,500
202 04| 1,500 1,500
01 =LHOIH] 1,500 1,500
20 & 1,500 1,500
O XtelF=& ol 1,500,000& 1,500
NE=Ed FEALRt2 398,626 771,216 A372,590




=N

X ZH -
o=

Xl

S B M

o9 RERE UNel XA (e @2
SN - O(BIH) - NRAY - BAS (ggj) @%%gm;ﬁ% D=2
= 211,320
& 56,192
Al 131,114
301 LEEN= 398,626 771,216 A372,590
= 211,320
& 56,192
Al 131,114
14 JIEIE A2 398,626 771,216 A372,590
= 211,320
== 56,192
Al 131,114
S0 A 398,626 771,216 A372,590
= 211,320
& 56,192
Al 131,114
OXNSEFEY HEALXICIAIS 398,626
= 211,320
& 56,192
Al 131,114
NAZEssEd AR e 4,908 37,085 A3, 77
= 2,160
& 824
Al 1,924
301 LEEN= 4,908 37,085 N3, 177
= 2,160
& 824
Al 1,924
14 J|EI2 A= 4,908 37,085 A3 77
= 2,160
< 824
Al 1,924
=0 A 4,908 37,085 N3, 177
= 2,160
o= 824
Al 1,924
OXNGLsEgaEd FEAAXICIAIY 4,908
= 2,160
& 824
Al 1,924
N NEEY AL 466,560 506,250 39,690
= 259,200
== 62,208
Al 145,152




2AM:

X ZH -
o=

INEE=DS )y

el SSREE Ll =& (Gt &
SH - B S9(3H) - NRAY - BES S SR HIDS2
301 Let8dZ 466,560 506,250 A39,690
= 259,200
& 62,208
Al 145,152
14 JIEI2 A3 466,560 506,250 39,690
= 259,200
& 62,208
Al 145,152
S0j &t 466,560 506,250 39,690
= 259,200
= 62,208
Al 145,152
OXgsd e FHL el 466,560
= 259,200
& 62,208
Al 145,152
NEsaly FEALRte 144,000 0 144,000
= 80,000
& 19,200
Al 44,800
301 Let8EdZ 144,000 0 144,000
= 80,000
== 19,200
Al 44,800
14 JIEI2 A3 144,000 0 144,000
= 80,000
& 19,200
Al 44,800
=0 A 144,000 0 144,000
== 80,000
& 19,200
Al 44,800
OXgsas FALR At
144,000,000 144,000
= 80,000
& 19,200
Al 44,800
HHEE AR EHA KA 93,312 82,500 10,812
= 51,840
& 12,442
Al 29,030
307 QIZ2t0IA 93,312 82,500 10,812
= 51,840




=N

INEE=DS )y

M HEIZZ225 & L SAXE M=/ =S)
ciel: 2R YNl 33 (el me
SH - B S9(3H) - NRAY - BES S SR HIDS2
= 12,442
Al 29,030
02 DIZHBAAIEER 93,312 82,500 10,812
= 51,840
& 12,442
Al 29,030
=0 A 93,312 82,500 10,812
= 51,840
& 12,442
Al 29,030
OAFHA dXielEdA XA
93,312,000 93,312
= 51,840
& 12,442
Al 29,030
HEAZM FA AL 4,500 5,200 AT00
201 Ler23d| 3,000 3,700 AT700
01 AtR22teltl 3,000 3,700 AT700
=0i & 3,000 3,700 AT700
OHEEM =X 29| 3,000
202 O4H| 1,500 1,500
01 =LHOH] 1,500 1,500
20 & 1,500 1,500
OFEFEM =& (4| 1,500
H=EAXEIALY K& 100,000 110,000 210,000
& 20,000
Al 80,000
101 14| 99,057 109,938 10,881
& 19,811
Al 79,246
M JIZHN22NSES 99,057 109,938 210,881
& 19,811
Al 79,246
S0 &t 99,057 109,938 210,881
& 19,811
Al 79,246
OelAt| 99,057
o=20 1,650,000 18«32 89,100
& 17,820
Al 71,280
4B E S (2,201, N& AH)
89, 100,000& *10.745% 9,574
& 1,915
Al 7,659




=N

X ZH -
o=

Xl

S B M

ciol: ZmE2 aXlel =A (crel el
Hou S[E| oM
A - EB - RI(SIH) - NIRAR - BaS (%'%:H) E(MEHO*J,H&) BlRE2
oLoED|QATEEED
9,100, 00021 %3 495% 12.27% 383
= 76
Al 07
201 LEr2 o] o3 62 881
= 189
Al 754
01 A2l 3 62 &1
= 189
Al 754
e 3 62 881
= 189
Al 754
Ostea| 43,0002 3
= 189
Al 754
SAr2 Il E Aol S (MY - ZATIALUH Al AlS 196,276 206,276 10,000
D)
JiZatelo] I=IIRIE 196,276 206,276 10,000
S CEFEEEEE S 138,000 137.000 1.000
307 el2F0lA 18,000 18,000 0
0 I HEAASEE 18.000 18,000 0
e 18,000 8,000 0
OS2EHK HA3 X2 A 18,000
oz S HelHE XY
1,000,001 %57 & 5,000
0QUETQ MATES 2E oI=0|
28t HiE N 600,000 %57} 2 3,000
CHAWESE HZAIE H% X2
2,000, 0002 %57} 2 0,000
308 XHxI SIS 01 120,000 100,000 20,000
1 2|20 E AR S Al ] 120,000 100,000 20,000
E 120,000 100,000 20,000
OIILHAAE BHRHE X
120,000,000 120,000
SR 2=EAAMY 22 - 2 58.276 69,276 A 11,000
201 gsre | 18.276 48.276 0
01 A2l 18.276 18.276 0
e 18,276 18,276 0
ONZLZZAAME 20126 2|
250,00021* 122! 3,000
ONLZZAAME ASCHH 2|
250,00021* 122! 3,000
ONLZZAAME ASCHs 2|
198,002 » 12 2,376
ONUBEAAME a2|22ls 2
ST 660,00021#43] 2,640




A NS EH
M 2AMSIIZRAHO SH(AMY - SAIILLNU K/ AD|SXIL)
ciel: JlZAriel DRIIIXIS! (cr9l: &g
SN - O(BIH) - NRAY - BAS (ggj) @%%gm;ﬁ% D=2
ONRNUZBELAMEH 29| 3,000,000& 3,000
OXRLEE2AHLMEH MIIOHEEH 24|
320,000« 12& 3,840
ORLBBAAME B4I| AXE
35,0008 x12& 420
02 524t 30,000 30,000
=20 A 30,000 30,000
ORLBEAAME ZZEAY|
2,500,000 «12& 30,000
401 A2 200 10,000 10,000
01 Al&HI 10,000 10,000
=01 A 10,000 10,000
ORLZBEYAHLE AIE=2 RAIEAHI
10,000,000& 10,000
=401 oA X (MY - SADLLUEK /AL 2 EX 1,340,776 1,704,506 A363,730
&
& 34,800
Al 1,305,976
SA0|1g KA 1,231,876 1,597,376 A365,500
== 34,800
Al 1,197,076
LR OIS gig 29 60,000 0 60,000
== 18,000
Al 42,000
101 el24H| 19,224 0 19,224
== 5,767
Al 13,457
4 J1I2tHI22NsSEs 19,224 0 19,224
o= 5,767
Al 13,457
S0 A 19,224 0 19,224
== 5,767
Al 13,457
OB X0l olAH| 19,224
oJlE2= 76,960 x1662 12,776
= 3,833
Al 8,943
o R s A=F=3=TEA= 76,9602 x43! 3,310
< 993
Al 2,317
oY XREH IS 76,9003 7 539
& 161
Al 378
o =4l 60,0002 x8& 480
& 144
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A NS E N
M SA0|Y oFE XA (MY - SAILLUUX /AL S EXIR)

el SA01Y NJAAL (chel &2
S - BB BR(31) - NSAY - BES S SR b=
= 16,800
Al 16,800
307 2I2t01A 33,600 582,600 549,000
& 16,800
Al 16,800
02 QIZIZAANSEEX 33,600 582,600 AB549,000
= 16,800
Al 16,800
20 & 33,600 582,600 A549,000
& 16,800
Al 16,800
OLetR48SH AR HHAZ XN2AIS
33,600,000 33,600
= 16,800
Al 16,800
SAJ|Y & Aazol K& 110,900 112,400 21,500
201 LEt23d| 7,500 9,000 21,500
01 AtR22teltl 7,500 9,000 A1,500
S0j &t 7,500 9,000 21,500
OdMs&20AM &2tH] 2,500,000 2,500
Oaaxz0 28 XA 5,000,000 5,000
307 2IZt0|A 3,400 3,400
02 QI AAIEE T 3,400 3,400
=04 3,400 3,400
OAMEO HALPDS K&
3,400,000& 3,400
403 XXM SAH=201 A 100,000 100,000
02 S 12SHUstAH=E2E ALY 100,000 100,000
=0 A 100,000 100,000
OAAZ0l A X 100,000,000 100,000
SA0|8 s4dit=2 AH 902,376 802,376 100,000
201 et Y| 2,376 2,376 0
01 At222teltl 2,376 2,376 0
=0 A 2,376 2,376 0
OSDIIEsHX= 22ALE AES
198,000 *12& 2,376
307 2I2t01A 900,000 800,000 100,000
08 OIXIEX™Z 900,000 800,000 100,000
S0 &t 900,000 800,000 100,000
Os2JIY s4X3 0IXHEdz XIJ
900,000,000& 900,000
SdE2SXA 100,000 100,000 0
306 EH3 100,000 100,000
01 23 100,000 100,000




=N

X

| M1

HE: ZA0|8 0 KR (42 - BAIILL0ILIT /A BB
o SA0|E NSAY (Gt &
) _ oM e, hoH -
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